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Question 1

QUMM obdsMBHGds: 3069053030L doMOMIE 5dM3IBIL FomdmoAqbL ----

Select one:

a. bbgeolb 49055030900l 2sbLEBOZMS MMl bgdoldog® dmdgbEdo

b. Lbgeol 4oss@y0gdols dgbfoges

C. bbgmaol 3md®msmdol dglfogens

d. Lbgeol 8gds®gmdol gobLebEacms LogMEgdo ™oL 6ydoLAOYH dMBgbEHTo

Question 2
F900560&05 019 33M0:
»B0D03M0 LoEOEOL 353BMI0 bgarbofyml LobMLEg (FMIOEGDS) oG
509853905 bganbafymlb »9300H9b0 bsyMFBOL BsLOL Bobggzs®L.™
Select one:
True
False
Question 3
5030l LobGYdsl, MMIgEdo BoBsMmmEosbos borEHmbols 3oM3zgwo 356mbo,
9hmqqdy:
Select one:
a. 0md630
b. »dcsgo
C. 5650690300
d. oByGEom@o
Question 4
5 LEBOL FMIM>MBOLLL gIMb3z93s o630 BB Y5O AOWGdOL
LooEqL?
Select one:
a. (653030 dndO5md0LLL, g INdOSMIOL J0TSOMGdS “9(33WIL0S
b. §&9fo6by dmdeemdolsls
C. {i®x3030 dmdOHsmdOLL, v FMdMsmdOL J0TSMMMEGds 033D
d. 86x9F0GMmo dmdersmdobsls, ) 3mdtsmdols B0dsHMM@IBs 033D
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Question 5
3905 LOIIWH3MOL GHG IO (ST) 9GS BogMHMSTMOHOLM
LobGHndsdo?

Select one:

a. 8.9

b. Mo

C. 9630

d. obo

e. Bow@mbo

f. 3s¢ho

Question 6

398050005 9] J3oM0: "oBmEo®gdme Lol dsdo dodobaty 3HmEgLgdol
39009390 9696M00L geHmo Lsbg F9odwgds Qo0BsmEML, dgmeg d9d30MEIL oby,
®™3 LOLEYIOL LOHMWo 969gHA0s IGRIL dwydogo".

Select one:

a. 93sMo

b. 39805600

Question 7

96m9ms (ST) LsgHmsdmGOLeM LolE)dsdo 03349lol gHMYOos:
Select one:

a. 33.9/%0

b. 6.9 /0

C. 3.10/50

d. 6.9/50

e. 33.9/%0

Question 8
M dsbob Bogmogho FgdGHowol 0byMmaool dmdgb@o vdMmsgzo wgMdol dodsmom gfimwgds ....

Select one:

a. 59 §90G0@0ol Lol bsdMsgel 0gMdsdyg dsbdowols 3350MaE By
b. 59 §9®E0ol dsbob 653GMZl Gool-39dEHM®L

C. 53 f9®G0Ool dsLol 6590zl 4963w o dsbdowby

d. 53 GoOBHowol dsbol 659Gogel gMAsdEg 56doBy


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%28SI%29%7D
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Question 9
F doerol dmdgb@GHo 9fimgds Loogl, MMIgEoE YOO ...

Select one:

a. F dogoobs o ommol 6sdGsgwl

b. r ®500mb-39dBHm0oLs s F dsemol 3gd@m®emen 6s36Gsgel
C. F dsgobs s boBdsol Bsdmoganl

d. F dogrobs s 9Bdo®gdols 659Gogeml

Question 10

QLMW gobdsMBHgds: bgdoldogMmo mGo M1 s M2 dsbol Lbgremols
396M399m 5OLBYOMBL FoBJOH0sMMO 456M93M, LosE 3L 0BRgbL doBoMEPMdOL
doeqdol 8mddgegds. 53 35BHYM0SO 2oM9gdmb 9fmgds ----- .

Select one:

a. dsgbo@mo 39w0

b. a®s30®930wo ggero

C. 99O Yo gwo

d. 9@adHOMLGHGOII0 9o

Question 11
®b3000 3MIGMBOL THLOMIIJ0 LOWOWYIB0S (dMbodbgm 3 3sbybo):

Select one or more:
a. 930G

b. 39®omwo

C. 0339wlo

d. dsbo

€. Lobdody

Question 12

4m39wo 3900mwo (Obg3000) 3OMEgLOL oz Egegdsl LogMEgdo
3903390 LBoBdsom gfmegds:

Select one:
a. GO
b. 8md®omds
C. ®bggo

d. 25055y0gBs


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
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Question 13
bgogemol gomdmdolsmgol LsFomm LomdML Mom©9bmdol 4sdmbsmgegen

RmOINsdo: Q = cmAT T -s6ob ...

Select one:
a. bbgwmarol Lodzzmogy
b. Lbgmeol Bmds

C. bbgmol dmEoeemds
d. bbgmamol dsbs

Question 14
3950mB0go M 3sLoL 0EJSYOO 5S0MOL IEYMTMIMOOL Jobobosmgdgero 3
396539GHM0L 9OHMIOMDS !

Select one:

a. U boBdstry, & sBgstrgds, P §b9gs

b. @ sBdstrgds, T sBbmewEmGo @gddgtadr®s, P §Bggs

C. P 6935, V dmgmeomds, T sdbmew@e®o ¢9d390s@ e

d. V dogryemads, P §6gs, G sRdstgds

Question 15

00095¢M0 5060l d0bogobo gbgeyos sIM30YdIMWOs:

Select one:

a. 5060 doEgrols Brmdgdby

b. 5060l 3350Md5%BY S 50MHOL FHYa3gOEWIGDY

C. 5060l Beg3mEgdls Bmeol dsbdowby

d. 5060l megzregdol Bemdgdby ©s 800 Fmeols dsbdoeby

Question 16

F900560@05 0019 3360

#BOIML GoMmEIbMdy, MMIYEO3 2993995 bLbgmemls, obstxqds dobo dobogsbo
969600L 25BMEBY s LMol doge dgdsbozmemo dmTomdol
99LOengdsy”.

Select one:

a. 93oM0

b. 398356080

Question 17
93909900 256EM)09000506 MHMIGE0 SOFIMOL 1565056 FAMSMOI:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Q%3D%7Bc%7D%7Bm%7D%7B%5CDelta%7BT%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bm%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Bv%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
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Select one:

3. 9z = Soz + Voo 't-l—%
b Oz = Soz + %

c.Sz - Xﬂ"‘ﬁl&: !

Question 18

BomEmbol 39m®g 356mbo gsdmolobgds gmedMwom , Ps®ol 0d3wwbo, M -
asLbo, a - 5B4o6gds (8mbodbgom 2 3sbvybo):

Select one or more:

= m%

dP

a.

b.

o T TR TR S T T
|
SO

c.
d.
e. = ma

Question 19

QLM obTsMFHgds -

dgo®0o Lbgmeol 8M63000 IMIMHMdS 3E3wgo gMHdol Jodsdm 9)mgds
oy dMIMSMOL, MEILsE LMoL HgdEHowgdo dgdmfgemgb HEghomgdl,
OMgmd ----- (8060869 2 306Mdo)

Select one or more:

a. 3969%0 gm0 LodMEHYJdos

b. LodGHYIYPOO MODOINMSONMIMOS

C. LORdMEYJYOO YYODOIOHMN3IMIGLYMHOS

d. 396¢®gd0 dxdsMymdY6 dHB30L wgMdby

€. LodMAY)9do Jdb0sh dsbgow 3Mmbgls

Question 20

F 35¢0l Bogh 5 35850 gd5% gl gdwo 3B5mds godmomzE9ds
RMOHINO !

Select ong:
a. A= =

o dA = (F - d3)

c. A=F - dv
4. A=Fv


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x%3DS_%7B0x%7D%2B%20V_%7B0x%7D%5Ccdot%7Bt%7D%2B%5Cfrac%7Ba_x%5Ccdot%7Bt%5E2%7D%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x%3DS_%7B0x%7D%2B%5Cfrac%7Ba_x%5Ccdot%7Bt%5E2%7D%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x%3DX_0%2BV_%7B0x%7D%5Ccdot%7Bt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_x%3DV_%7B0x%7D%5Ccdot%7Bt%7D%2B%5Cfrac%7Ba_x%5Ccdot%7Bt%5E2%7D%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=P
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3Dm%5Cfrac%7BdP%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D%5Cfrac%7Bd%5Cvec%7BP%7D%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D%5Cfrac%7Bd%5Cvec%7Ba%7D%7D%7Bdt%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D%5Cvec%7Ba%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3Dm%5Cvec%7Ba%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cfrac%7BF%7D%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D%28%5Cvec%7BF%7D%5Ccdot%20d%5Cvec%7Bs%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%7BF%7D%5Ccdot%7Bdv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BA%7D%3D%7BF%7D%5Cvec%7Bv%7D
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Question 21
33o©0 ' dserol 8oge 353905 ®o (603m0960)

Baddoeol P1 FadEowowsb P2 fah@oowdo gomsliss@aoegders
99LOHMEgdo 398500 25dMOLObYds BMMIMEom (Imbodbgm 2 Fglsdgom
35Lvgbo):
Select one or more:

_ [p2
L A= [ (F-ds
b A= [Fds

A= fm Fds cos
c. p1

d. A= Fs
e. A = Feroso

Question 22
®9 B5EgH0sN® 9B EH0wDg dows 56 dmddggdl (£ = 0), 35306 dobo -----

Select one:

a. 0037lo 56 0(33wgds
b. 250550300 9ds 033090
C. 003990 0(33¢905

d. boBdoMg 033wgds

Question 23
dm399wo BMmOIMEgd0sb, HMIgEo mMIMo0od G90degds 25dM3MZIMOD
3530l7)53500 35MEBOL sBJoMgds (G 560l gM30¢E0 o 34908035).

Select one:

(\'M’
(Tiﬁ‘g

2

c. 9 - (ﬂf:’
(TZFE‘E

Question 24
®bg3z0L 3gMomo T FGHmeos:

Select one:

T:
T=
. T'=

b-:l mlg "‘JE

Ty


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=p_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=p_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cint_%7Bp_1%7D%5E%7Bp_2%7D%28%5Cvec%20%7BF%7D%5Ccdot%20d%5Cvec%20%7Bs%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cint%7BF%7Dds
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cint_%7Bp_1%7D%5E%7Bp_2%7D%7BF%7Dds%5Ccos%5Calpha%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3DFs
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3DF%5Ccos%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20F%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7BM%7D%7B3R%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7B2R%5E2%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=g%3DG%5Cfrac%7BM%7D%7B2R%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D%7B2%5Cpi%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D2%5Cpi%5Comega_0
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d. why

Question 25

MO0 GICOS Mo 3m39M96Emwo, mv) (0mbodbym 2 3sbvgbo) :
Select one or more:

a. BHowEgdol LobJoMy 56 sMHOL GHMEo

b. Gogdol BsBoms bbgomds 5@ sMol ©odm30@IdIMEo EMHMBY

C. (o gd0 IMbMJOMTsEeos s LobJoMmYgdo GHMEo

d. Bowgdol Bsboms Bbzomds ©IMI0IBY0s EMHMBY

€. BHOwEYd0 56 5MHOL dmbmdOHmPs@ o

uestion 26
§3@3060b (T°K) s ggeobonol (1°CY) ¢98396a@ay69dl dmeol 3538060
dm 3990 ZMOHIMOm !
Select one:
a. T°=t°4+100
b. T°=t>—100
c. T°=t"=200
d. T°=t"+273
e. T7=1"-273
£, T°=t"4200

Question 27
G0 MHML IMsbmdqol 700 3 Loa™dol 23060500l Aozl
100 9 Lopa®dol dsEHomgdgero, 0wy dobo Lobdstgs 72

30/bo? (39do BsHgMgm dbmwmo Gogbgo, dop. 1,23):

Answer:|

Question 28

296LsbE3gMgm 439. dobob dMODMSL 30693 03O0 gogMR0s ) 0O
3m3dMomdL 79/§0 LohJsGom. (39wdo BsfigMgm Tbmermo Gogbgzo.dgslbgool
LOBMLEGHOm. Jog: 1.23)

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B2%5Cpi%7D%7B%5Comega_0%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7BK%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bt%5E%5Ccirc%7D%7BC%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B%2B%7D%7B100%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B-%7D%7B100%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B-%7D%7B200%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B%2B%7D%7B273%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B-%7D%7B273%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7BT%5E%5Ccirc%7D%7B%3D%7D%7Bt%5E%5Ccirc%7D%7B%2B%7D%7B200%7D

Question 29

03390 (Moo oligmb 0bgdEool dmdgbdo LodgE®mool Vgmdol dodstod,
o) dobo AL =533-U, bogm Gosombo 0.23-0s. (39wdo BsfigMgm Fbmeom
©o3bgo 395690l LobLEHom. dsy: 1,23 )

Answer:|

Question 30

0339 d9go®o bbgmeol 033ebols dmdgbEol ooy dGmbzomo
30dM5mdoL OML, v 0bgMool ImdgbBHo I=3.13y.92, bowm 3Mmbyco
LoBdomg 5650/§0-0s. (3980 BsfigMgom dbmermo Gogbgo 1.23 )

Answer:|

Question 31

mM=3.63y dsLoL bbgmero 0dymxzgds wogxg@do, MmIgeog Imdmsmdl
390GH035M5 Bg300 a=63/d2 sBJsMgd0m. 03mz9m Lbgmol fmbs mvy
g=1038/§02. (39do Bsfggm Fbmewmo Goisbgo, dop: 1.23).

Answer:|

Question 32

033900 B5335600560 dMODMEL 3mE9bE0sw Mo 9bgeaos, 0y Lobolidg
K=6006/3, boem X=4313. (3980 Bsfigmgom dbmenmo Gogbzo 9gsbgool
LobMbEom, 0o9:1.23).

Answer:|

Question 33

030390 506M0L Jog JguM)egdeo ddomds A, oy 6935

P=9.10¢ 35b35¢005, bmm dmEemdol 3erowmgds dV=0.001 3. (36m3gbo
0DMmmgMIM0s). (3gedo Bsfig®go dbmemo Mogbgo. dsy 1.2).

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a

